Computer

1. Fgfafed & gee a1 e &1 sm3eye fSagy =8t 82
@ flie? @) poliged
@ dsSig, 1) CRT BBIF

1.Which of the following is not an output device of a computer?

(A) Printer (B) keyboard
(©) vDU (D) CRT screen

2. ALU BT QRIAH 1§ ?

(31) 3reTTH g e (@) 3ifq @ e

) dHE® dfforwa e @ S A OfHe
2. what is the full name of ALU?

(A) Alarm Line Unit (B) All Line Unit

(C) Arithmetic Logical Unit (D) Arithmetic Logic Unit
3.f59 wHie gRI Siagc 3 filc -G orE IHdE ?

(31) foic (@) 98 US Uieg

@) fife g @IS g

3. which command can be viewed before printing the document?

(A) Print (B) Web page preview

(C) Print preview (D) Send To

43 AISUONT FT§ ?

(31) TR0 (@) g1 UTd HRAT

() G211 BT Ye=H @) SWRIad gt

4. what is the use of internet?

(A) Transmission (B) Receiving information
(C) Display of information (D) All of the above

5 Which one is the shortcut key to Paste in relation to computer?

(A) Ctrl +V (B) Ctrl + C

(C) Ctrl + B (D) Ctrl + D
5 HeR ARASH T URE FRAGD! Ycdhe Hoit g ?

(3f) Ctrl +V @) Ctrl + C

(H) Ctrl + B (@ Ctrl + D

6. What is the full form of CPU?
(A) Central Processing Unit (B) Central Problem Unit
(C) Central Processing Union (D) None of these

(D)

(D)



6.CPU T JUT U T §?

(A) TEAIO TRRUT SHTS (B) S0 THIT IHIg

(C) HEI0 THRUT Tg (D) ST GRS Aol (A
7.What is the meaning of data processing?

(A) To do the calculation work (B) Collection of data

(C) working of computer (D) Preparation of information for commercial use
7,381 U &1 s e | 2

(A) O 10 HIAT (B) TET &1 TUg

(C) PR B! B0 oIt (D) AT JUONT IfTT THHRT JOR HRAT
8.An electronic device that processes data while converting it to information?

(A) Computer (B) case

(C) processor (D) None of these

8.U% ZAECId SUHRUT o ST &1 TSGR H gRafld HRAgEY UfehOr FHRaT g 2

(A) OIS (B) PRE

(C) THI®H (D) ST TEpIS T8l

9.How many bytes are 1 kilobyte (KB)?

(A) 1024 bytes (B) 1024 megabytes

(C) 1024 gigabytes (D) None of these

9. fralaTge (KB) fhdmTSe FSRIER BIAE ?

(A) 1024 digc (B) 1024 HOIHIZC

(C) 1024 TiTETRE (D) 3T AEpTS A1

10.What is the language often used by children in a computer program?

(A) Basic (B) Java

(O) logo (D) Pilot

10.f< drugex T B o= gRT Ugad WIS WI0: HF-31 gl § ?

(A) ST (B) SITdl

(C) @ (D) TTIO%e

11.Computer literacy means-
(A) writing computer programs (B) Computer error correction
(C) Knowledge of computer performance (D) Know the working of computer

11.HTCR &R &1 31 3-
(A) R YIUTH foram (B) LR 1 FfC ORAT
(C) PR B B0 &HAT BT AHBGRI @A (D) HEER DI HI0 FUMTSl! ST

12.Converts information by computer process?
(A) input (B) Number
(C) Data (D) Processor

(D)

(A)
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12 H R TIH gRT SAHBMRH & gRafdd &l 87

(A) $TYC I (B) &R I

(C) STeT &I (D) TNIER BI (@)
13. A3 &1 fobT T 87

() RiTa fore OEENAESERT

() did (D) Y (D)
13.What is the action of the mouse?

(A) Single click (B) Double click

(C) drag (D) ALL OF THE ABOVE (D)
14. Let's use ............ key to get to the beginning of the line of text.

(A) Home (B) Ind

(C) Pageup (D) Enter (A)
14. TRE P} Ufad F0SRAY T THEERIRT ........... B BT YO AR |

(A) B B IS

(C) UsIsy (D) TX (A)
15.Which of the following is not a quality of a computer?

(A) ability to take quick decisions (B) Privacy

(C) Brainless (D) diversity (@)
15,37 FEHI- HTLR BT 07 el -

(A) STeg 00 THEHT & (B) TU=OI

(C) Srafe (D) fafaodn ©)
16. Which key is used in conjunction with another key to perform a specific task?

(A) Function Key (B) Space Bar

(C) Ctrl (D) Arrow Key ©
16. fordt fafRry P10 P HRAGIRIT HIA Key T Key FORTY B UQa B oIl 82

(A) Function Key (B) Space Bar

(C) Ctrl (D) Arrow Key (@)
17. Email addresses in ............ field are visible to all recipients. Email addresses in .......... field are visible to only

the recipient.
(A) Cc and Bcc, To (B) To and Bcp, Cc
(C) To and Cc, Bcc (D) Bcc, To ©

17. SAE YA ... & g U atelt &1 foxaTs ag | ........ Biee § SHE UdEEd Ukdhd! & fedTs cak |
(A) Cc 3fRR Bec, & (B) To 31R Bcp, Cc
(C) To 3R Cc, Bec (D) Bec, &Y ©)



18.Who is called information in computer?

(A) Data (B) Numbers

(C) The data collected (D) All these ©
18,5 eR H I fPaEpeT ST g ?

(A) ST I (B) TEI3N I

(C) UhfAd @l &l (D) O+t (@)

19. Is the first counting machine?

(A) calculator (B) differential engine

(C) Abacus (D) Clock ©
19.9H TUMHT 07 § ?

(A) PAGAER OIS AESE

() 3T (D) Tl ©)

20.Which of the following is an example of optical disk?

(A) Magnetic disk (B) memory disk

(C) Digital Versatile Disc (D) All these ©
20,549 & e H-1 S Ha {3 &1 IamRur g ?

(A) Frofee f$%p (B) HEI 3w

() fefSiea qufersd fewm (D) O ©)
21. 317 U 98a% IR U SR &I FT HIH g LR JUPISal b1 3RI0 HAT 82

(A) Tb Uled (B) Udh HEIETT

(C) T AR (D) U 98 FaR (A)
21. What do you call a computer on a network that requests files from another computer?

(A) A client (B) A host

(©) A router (D) A web server (A)
22. A SR W 39 BIsal Bl TUGIA Bl § 195 U W1y I@ATY SR H HE S Fohdl 5;
(A) forTT e (B) AR S

(C) uRriio (D) BISd TR (D)
22. The main computer that stores the files that can be sent to computers that are networked together is:
(A) Clip art (B) Mother board

(C) Peripheral (D) File server (D)

23. 310 HELR AIRY B! HUWHS YhHdR?
(A) S-HET = HEHT (B) TR TR AUy BT YO BT
(C) 3-HH JaU® T (D) AR WIGRT (©)



23. How can you catch a computer virus?
(A) Sending e-mail messages
(C) Opening e-mail attachments

24. Google (www.google.com) is a:
(A) Search Engine
(C) Directory of images

24. Google (www.google.com) W%:
(A) Tt Eil
(C) Bfant &t R

25. S0 MAIhId b1 97 T8l 872
(A) TSI
(C) THI

25. Which is not an Internet protocol?
(A) HTTP
(C) STP

26. Fyfeiad & 9epH T A= SHE 9 T8l |2

(A) www.yahoo.com
(C) www.com.yahoo

(B) Using a laptop during the winter

(D) Shopping on-line

(B) Number in Math

(D) Chat service on the web

(B) TIOTA ® W&
(D) 98 WR < 9@l

(B) FTP
(D) IP

(B) www.yahoo.co.uk
(D) www.yahoo.co.in

26. Which of the following is not a valid domain name?

(A) www.yahoo.com
(C©) www.com.yahoo

27. AOL T Hdod &
(A) TAFRYT TTERY HT
(C) SO 3NaR A

27. AOL stands for:
(A) Arranged Outer Line
(C) Audio Over LAN

28. HUER {9 &1 GO 14 &:
(A) FreTfed &9
(C) ATSHIUIIRR

28. Another name for a computer chip is:
(A) Execute
(C) Microprocessor

29. "www" bl 31’23: %:
(A) ITS d15S I8
(C) ITS T3S Uchal

29. "www" stands for:
(A) World Wide Web
(C) World Wide Wait

(B) www.yahoo.co.uk
(D) www.yahoo.co.in

(B) 3R 3R A
(D) AR 39-a

(B) America Over LAN

(D) America On-li

(8) HrSeh! o
(D) IO B

(B) Micro chip
(D) Select

(B) IS S IR
(D) fay =it g

(B) World Wide Wares
(D) World Wide War

(D)



30. Yahoo &1 fa&rg fg-ieOr

(37) S 3R o YT @) Stirs et 3R S| o
@) fde I 3R e Pped (@) Wa o 3R 9P THg
30. Who developed Yahoo?

(A) Dennis Ritchie & Ken Thompson (B) David Filo & Jerry Yang
(C) Vint Cerf & Robert Kahn (D) Steve Case & Jeff Bezos
31. o Her 3R EBR fRwTs <mE?

(31) T T2 () U TBT3C oRE

) fiie Temse e (@) STUC o

31. In which view Headers and Footers are visible ?

(A) Normal View (B) Page Layout View
(C) Print Layout View (D) Draft View

32 fardlt 98 STagiic H dicemTd dEREY H fargasT IUONT fahr S TehelT & |
(3]) TERC () RHH

() 31 3R g @EIERE]

32. Which one can be used as watermark in a word document.

(A) Text (B) Image

(C) BothAand B (D) None

33, fpgauga gded! 2pfa @t W ) ger / fvur g ?

(31) T <rg @) 7t 3T3cars

QY ENIES] @) T e

33. We can remove / hide border of a shape by selecting.

(A) No Line (B) No Outline

(C) White Line (D) No Border

34. 398 IEPH T 3o el 87

(A) 7T (B) OT

(C) g (D) SEHTH T

34. Which of the following is not a search engine?

(A) Google (B) Yahoo

(C) Baidu (D) Wolfram Alpha
35 A PH T SHIS B 2

(A) AT (B) Bl-as

(C) TR (D) 378 gt
35.Which of the following is an input unit?

(A) Mouse (B) Keyboard

(C) Scanner (D) All of these

€

(%)

(B)

(D)
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36.FER) H ygad os. Y. fau sarg

(A) PITHOT 9O (B) IR HIHURS ¥O
(€) RreR &0 (D) RferpIA |0

36. IC chips used in computers are made?

(A) Chromium (B) iron oxide

(C) Silver (D) Silicon

37 TUMT 3R a1 FufiE HRgeR Fuferq HFT &1 9OnT o Sran g 2
() &= e (8) HrsH

(C) ALU (D) herd Qe

37 Which part of a computer is used for calculation and comparison?
(A) disk unit (B) Modem

(C) ALU (D) Control Unit

38. 7R FuRied TR gffe ST 10 R 2

(A) ST fEdite FRar g GAENERIGI

(C) UMY 3R TRIRHT el 8 (D) 378 WEpIS ol

38. Which is the function of central processing unit of computer?
(A) deletes the data (B) Creates an invoice
(C) Performs calculations and processing (D) None of these

39.%7gex fgfoiad & Gup=-91 H1d 8 HRar g ?

(A) TR (B) SfexxTET

(C) Fwgfe (D) ST3CYfeT

39. Which of the following does not work by computer?

(A) processing (B) Understanding
(C) Imputing (D) Outputing

40. T Y YOS fop0T SHETET HECR § ?

(A) Fefored duger (B) SHPhd HELR
(C) BT3fSTS PR (D) TATRINT e
40. What is a commonly used computer?

(A) Digital Computer (B) optical computer
(C) Hybrid compute (D) Analog computer
41.'0S' computer abbreviation usually means?

(A) Order of Significance (B) Open Software

(C) Operating System (D) Optical Sensor

41'0S' SR HT e ATH IR W §?
(31) HEd DT STcH (&) MU GtedmR
(@) STREET RreeH (@) 3HPeher W

©
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42 What is a URL?

(A) A computer software program

(B) A type of UFO

(C) The address of a document or "page" on the World Wide Web
(D) An acronym for Uniform Resources Learning

42. URL T 87

(31) Th SR YR WUTH

(&) T YebR T [UH3

(W) TS 1SS I8 WR U SEITad O7 "IF" T Ul
@ e RS af-n afe T dfé 9

44. The sampling rate, (how many samples per second are stored) for a CD is?
(A) 48.4 kHz (B) 22,050KHz
(C) 44.1 kHz (D) 48 kHz

44. TF S T T R, (Wfd IS fHaEgAEREld 8)?
(31) 48.4 kHz @) 22,050KHz
(W) 44.1 kHz (@) 48 kHz

45. ' JPG' extension refers usually to what kind of file?
(A) System file (B) Animation/movie file
(C) MS Encarta document (D) Image file

45, JPG' TIHCYM 3MHAR W {5 TR B! BI5d B! Yafid Hrd1 82

(3f) Rreew wrsd @) TR / fihed Bred
(%) THTH Tcble! cdTam (@) Bfd B

46. In what year was the "@" chosen for its use in e-mail addresses?
(A) 1976 (B) 1972

(€) 1980 (D) 1984

47. 3-9d UdH 90390 Fufie "@" I fovg as g1 7107 oT?
(31) 1976 @) 1972
() 1980 (@) 1984

48. What is part of a database that holds only one type of information?
(A) Report (B) Field
(C) Record (D) File

48. U ST HT T T § S I U UDR P! SIHDRY G 87
(3 Rard @) B

v

@) Repis (@) Wl

49. 'DTP' computer abbreviation usually means?
(A) Digital Transmission Protocol (B) Desk-Top Publishing
(C) Data Type Programming (D) Document Type Processing

©

©

(D)

(B)



49, Y HER WA T HT SHAR W HIAd gl 87

(31 fefores i Uiciola (&) SHE-CIT UfeARIT

() STeT eT3T URTHT (G) T UhR YEIHT

50. ......... is a way to quickly access a favorite website by saving it in your browser.
(A)Cookie (B)Bookmark

(O)Blog (D) None of the above

50. ........ STAGISIR & TgHHR bl THiaT IEATSE B gid Uaum HRAGHT Th didl ¢

(A) BB (B) §HHID

(C) AT (D) SR H TEpls Tl
51, LR FRNSH T HIUT HRAD! ATche Hoil g ?

(3f) Ctrl +D (&) Ctrl+ B

(&) Ctrl+C (Q) Ctrl + A

51. Isthe shortcut key to copy in relation to computer ?
(A) Ctrl+D (B) Ctrl + B
(C) Ctrl+C (D) Ctrl + A

52. CPU BT RITATH RITG ?

(3f) Heo UraE gfe @ Ygd U gfie

(@) held U e @ Hea Ui gfe

52. What is the full name of CPU ?

(A) Central Process Unit (B) Central Power Unit

(C) Control Power Unit (D) Central Processing Unit

53. Keyboard & $d foral HaRIH Keys Bl & ?

(3l) 13 @) 10

(}) 12 @ 14

53. How many function keys are there in Keyboard?
(A) 13 (B) 10

@12 (D) 14

54. SR FARTEH H URE HRAG0] A he Hoil g ?
(31) Ctrl +V () Ctrl+C

() Ctrl + B (@) Ctrl+D

54. Is the shortcut key to Paste in relation to computer ?

(A) Ctrl +V (B) Ctrl + C

(C)Ctrl+B (D) Ctrl + D

55. ford HHTS gRT Siagie ! file TRAMNd o’ ThdE ?
(3 file (@) 98 S Hieg,

@ fife diog, @S¢

(B)

(B)



55 Which command can be viewed before printing the document ?

(A) Print (B) Web page preview
(C) Print preview (D) Send To

56 S8 ASUONT RATE ?

(31) IR (@) T UTed BT
() g1 &1 TR (@) SWRIad it

56 What is the use of internet ?

(A) Transmission (B) Receiving information
(C) Display of information (D) All of the above

57 9 o 9EpH a1 9erd Hifsor TeiiamE § 2

(31) Google.com (¢) Yahoo.com

(H) Facebook.com (@) Altavista.com

57 Which of the following is a social media application ?

(A) Google.com (B) Yahoo.com
(C) Facebook.com (D) Altavista.com
58 9 T WETSIR T & ?

(30) AR ©EIEIE

@) iR @UATH TS

5 8 Which of the following is not hardware?

(A) Monitor (B) Keyboard

(C) Printer (D) MS Word

59. gFEe T Ufdd & IRAH H I & AT ... HT FH YA Hd g

(A) B (B) §3
(C) 931319 (D) TX
59. Let's use .. key to get to the beginning of the line of text?
(A) Home (B) Ind

(C) Pageup (D) Enter






